Name:____________________	Period:_______	
Worksheet: Transformations
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Mixed Practice
Tell whether each is a reflection, translation, rotation or none.





















42. Triangle CAT is shown on the coordinate
 plane. Which transformation would have one 
 vertex located at (1, 2)?

A    Reflect across the y-axis.
B    Translate down 3 units and left 1 unit.
C    Reflect across the x-axis.
D    Rotate 90° around the origin.





43. Triangle ABC is shown to the right. If the 
Triangle is translated so that point A(1, -2) is mapped
 (
B
)To point A’(5, 1), which ordered pair best represents 
Either point B’ or C’?
 (
A
)
A 	 (0, 9) 
 (
C
)B 	 (7, 7)
C 	 (6, 8)
D 	 (-1, 10)
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8. In the reflection shovn, the shaded figure is the 9. What is the image of the point (=3, 4) when it i

preimage. Which of these represents the mapping? reflected across the -axis?
@ MNP = DSWS D IMPN = GWSD B (4-3) © (3,4
@ DGWS — MNP @D PMIN = SDGW @ (-3,-49) ® (-4-3)
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10. Darylis using a coordinate plane to plan a garden. He draws a flower
bedwith vertices (3, 1), (3, 4). (-2, 4), and (=2, 1). Then he creates
a second flower bed by reflecting the fist one acros the x-axis
Which of these is a vertex of the second flower bed?
® (-2.-4) © (1)
® (-3.1) ® (-3.-4)
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Tell whether each transformation appears to be a translation.
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Translate the figure with the given vertices along the given vector.
15.P(-1,2), Q(1,=1). K3.1).5(2.3) (3,00 16.4(1,3). H-1.2), 0(2.1), D{4. 2} (=3, 17.0(0, 15), {~10,5), K10, ~3); (5. ~20)
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18 Animation An animator draws the ladsbug showen and then
translates it long the vector (1, 1), ollowed by a translation
of the nevi image along the vector (2.2), followed by a
translation of the second image along the vector (3, 3)
a. Sketch the ladybug final position.
b, What single vector moves the ladybug from tsstarting
position toits final position?
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vector translates point Qo point 7
B (-2.-4 © (-24
® (4-2 ® (-4
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24. What is the image of P{1, 3) when itis
translated along the vector (-3, 5)1

® (-29) ® (0.6)

© (13) ® (0.4)
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Find the vector associated with each translation.
‘Then use arrow notation to describe the mapping

of the preimage o the image.
20.point A o point B

21 point 510 point A

22.point C o point D

23.point Eto point B
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25. After a translation, the image of A(—6, ~2) s 6(~4, ~4).
What is the image of the point (3, ~1) after this
translation?
® (-51) © (5.-3)

® (51) @ (5.3
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“Tell whether each transformation appears to be a rotation.
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Rotate the figure with the given vertices about the origin using the given angle of
rotation.

30.5(-1,2) K3 1), 62300 3L A(-1.0).5(-1.-3). (1. -3). B{1.0):270° 32, 2(0,2). Q(2.0) R(3. ~3) 100"
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33. What is the image of the point (2, 5) when it is rotated about the origin by 90°7

® (-5.2) ® (5.-2) © (-5-2) @ (@-9)

34. The six cars of a Ferris wheel are located at the vertices
of a regular hexagon. Which rotation about point P maps
car A to car €7

® 600 © 90° a 1200 D 135°

35.Gridded Response Under a rotation about the origin,
the point (3, 4)is mapped to the point (3, ~4).
‘What is the measure of the angle of rotation?
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412, -2). Q4. ~2). B3, ~d)iy=x
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Reflect the figure with the given vertices across the given line.

40.4(-3.2), B(0.2). C(=2,0); y= X
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Reflect the figure with the given vertices across the given line.
5 A(-3.2)5(0.2) C(-2.Ohyaxis 6 M-tim)) MoL=1).H=2Zhy=x 7. J(12) K(-2.-1), L. -1 vaxis




image3.png




